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Abstract. For a one-dimensional projection of a spherically censored Gaussian measure on Rn we
prove the logarithmic Sobolev inequality. As a consequence, we obtaine the Poincare inequality for a
spherically censored Gaussian measure on Rn, n ≥ 3.
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Eμ f =
∫

f dμ,

Varμ f =
∫

f2 dμ−
(∫

f dμ

)2
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Entμ f =
∫

f ln f dμ−
∫

f dμ

∫
ln f dμ.
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 �� ��� 1� ����� c  �� ������� R 	�  �����1
� c1(1 + R2)� J �	2��� ���
� 
��

����� �� �
��� ,R ������ � ��
���	� ��
  �!���
 ����
�	�� 
� ��	��
 �
�� ������

� �	������� [0, R +
√

2]. 
 )4+ ������	� ��2� �	�!	� ����2� ���	�� c ≤ c1 exp{c2R
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(a, 0, 0, . . . , 0)� 
� a ∈ [0; R +

√
2]� ���	�!��� μa,R
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ρμn,a,R(x) =

⎧⎪⎨
⎪⎩

cn−1e−ax+ a2−R2
2√

2π(1−Bn(a,R))
Hn−2(

√
R2 − (a− x)2), x ∈ [a−R, a + R],

e−x2/2√
2π(1−Bn(a,R))

, 
�� �	2�� x.


� Bn(a, R) = γn(B((a, 0, , . . . , 0︸ ︷︷ ︸
n

); R)�

Hn(x) = e
x2
2

∫ +∞

x

yne−
y2
2 dy,
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cn =
1

(2π)
n
2

∫
[0,π]n−2

sin(ϑ1) . . . (sin(ϑn−2))n−2 dϑ1 . . . ϑϑ−2.
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�
 ���� μn,a,R�

Entμn,a,R f2 ≤ 2cn,R Eμn,a,R(f ′)2.

��

cn,R =
2 ln 2

2 ln 2− 1

(√
2(1 + R)

Hn−2(R)
Hn−2(0)

+
2
√

2π + 4cnHn−1(
√

2R)
cn−1(n− 3)!!

+
1

cn−1Hn−2(0)

)
+1.
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H2k+1(x) =
k∑

m=0

(2k)!!
(2(k −m))!!

x2(k−m),

H2k(x) =
k−1∑
m=0

(2k − 1)!!
(2k − 2m− 1)!!

x2k−2m−1 + (2k − 1)!! e
x2
2

∫ +∞

x

e−
y2

2 dy

≤
k−1∑
m=0

(2k − 1)!!
(2k − 2m− 1)!!

x2k−2m−1 + (2k − 1)!!
√

π

2
,
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�������� ������
�
� ����� �� ��� ���� �������� �����

cn,R ≤ 2 ln 2
2 ln 2− 1

⎛
⎝ 2√

π
(1 + R)

Hn−2(R)
(n− 3)!!

+
2
√

2π + 4cnHn−1(
√

2R)
cn−1(n− 3)!!

+

√
2
π

cn−1(n− 3)!!

⎞
⎠+1

� ��!������� "�������  �� 
�!	 μn,a,R  ������� ������� ������
������ �� R�
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��� ��	� !�" ��
�� �������
�� #���	��� ��� μn,a,R$

Varμn,a,R f ≤ cn,R

∫
|f ′|2 dμn,a,R

#�!������� $�����!�  �� 
�!	 μa,R
n � ������
������ �������% �� R ���������%� �

����� ��
 ��!������� $�����!�  �� 
�!	 μn,a,R� "��!
��%�
� �� ���! ������ &���
 ��� ���� �	��	��� � ����� �� ���� ��!
�� '(��) � '(�*) ������ +�,�

������� ���� !�" ��
�� �������
�� #���	��� ��� ���


�
� ���� % ����%��
� 	��

��� μa,R
n $

Varμa,R
n

f ≤
(

cn,R + 1 +
R2

n− 1

)∫
‖∇f‖2 dμa,R

n .
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��"��
� �������
��

Kμn,a,R(x) =
ργ1

(
F−1

γ1
(Fμn,a,R(x))

)
ρμn,a,R(x)

≤ cn,R

=
2 ln 2

2 ln 2− 1

(√
2(1 + R)

Hn−2(R)
Hn−2(0)

+
2
√

2π + 4cnHn−1(
√

2R)
cn−1(n− 3)!!

+
1

cn−1Hn−2(0)

)
+1

�� Fμn,a,R(x), Fγ1 ' ���	��� �
%�
���� ����
�����( ��� 
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������� ��������	 
��� �
� � ������� ��
� x ∈ (−∞, a−R] ∪ [a + R,∞)


���� ���� ��� x ∈ (−∞, a−R] ∪ [a + R,∞) ����� �	�����
�� Kμn,a,R(x) ≤ 1


���	�	���
 ������ ��������� I(p) := ργ1(F−1
γ1

(p)) ��������������� ������� �����
������� ��������� ����
 ���������  � I ′(p) = −F−1

γ1
(p)
 !��� �
	 "��#�	���� c > 1 �

x ≤ F−1
γ1

(1/c) �� ��$��

[I(cFγ1(x))]′ = −F−1
γ1

(cFγ1(x))cργ1 (x) ≤ (−x)cργ1(x) = cρ′γ1
(x)

�����  � F−1
γ1
��������� ������	
 %������
��  � �"���� ������� I(cFγ1(x)) � ργ1(x)

��	����# �� ��
	 ��� x → −∞� ��&�

I(cFγ1(x)) =
∫ x

−∞
[I(cFγ1(y))]′ dy ≤ c

∫ x

−∞
ρ′γ1

(y) dy = cργ1(x), x ≤ F−1
γ1

(1/c).

���������  � �
	 x ≤ a−R

Fμn,a,R(x) =
1

1− Bn(a, R)
Fγ1(x), ρμn,a,R =

1
1−Bn(a, R)

ργ1(x),

� (1 − Bn(a, R))−1 > 1
 !���&� ���������� {y = (y1, y2, . . . , yn) : y1 ≤ x} ������#�	 �
Rn \Bn(a, R)� ��&�

Fγ1(x) = γn({y = (y1, y2, . . . , yn) : y1 ≤ x}) ≤ (1−Bn(a, R))⇔ x ≤ F−1
γ1

(1−Bn(a, R)) ,

� �� ��&��� ����������� ��
#��  � �������� ���������#�  �" ��������

Kμn,a,R(x) =
I(Fμn,a,R(x))

ρμn,a,R(x)
=

I
(

1
1−Bn(a,R)Fγ1(x)

)
1

1−Bn(a,R)ργ1(x)
≤ 1, x < a−R.

'
	 �������� ��
� x ≥ a + R

1− Fμn,a,R(x) =
1

1−Bn(a, R)
(1− Fγ1(x)).

���������  � I(p) = I(1− p) � F−1
γ1

(1− Fγ1(x)) = −x� ���� �� ��&��� �����������

���� ���� ��������	� 	� � �
	 ������� x ≤ a −R�  � K̂μ(x) ≤ 1� "� �
	 "��#�	����
c > 1

I(c(1− Fγ1(x)) = −c

∫ ∞

x

F−1
γ1

(
c(1− Fγ1(y))

)
dy ≤ c

∫ ∞

x

yρ′γ1
(y) dy = cργ1(x). �

!���� ��
�(�
��# ������� ���������# � 
��� �
�� �
	 ������� x ∈ [a − R, a + R]

'
	 �#��� ��� �����"��#�	 ������&�� �����&���	


���� ���� ��� x ∈ (0, 1) ���������
� �	�����
��

I(x) = ργ1

(
F−1

γ1
(x)

) ≤ 2 ln 2
2 ln 2− 1

(1− x)

√
ln

1
1− x

.

���	�	���
 ���
����� g(y) = exp{−y2/2} − Fγ1(−y)
 ���������  �

g′(y) = −y exp
{
−y2

2

}
− (−1)

1√
2π

exp
{
−y2

2

}
= exp{−y2

2
}
(

1√
2π
− y

)
������# �� ������� [0,∞) ������	 g ��$ ���� 
���
#��) ������� � ����� 0� ��
����(�$�#�	 �� ������� [

√
2π, +∞)
 *�$�� g(0) = 1− 1

2 = 1
2 � limy→+∞ g(y) = 0−0 =



��� �� �� ���	
��
��

0� ����� exp{−y2/2} ≥ Fγ1(−y)� y ∈ [0, +∞)�

⇒ exp

⎧⎨
⎩−1

2

(√
2 ln

1
x

)2
⎫⎬
⎭ = x ≥ Fγ1

(
−
√

2 ln
1
x

)
, x ∈ (0, 1),

⇒ F−1
γ1

(x) ≥ −
√

2 ln
1
x

, x ∈ (0, 1),

⇒ −F−1
γ1

(x) ≤
√

2 ln
1
x

, x ∈ (0, 1).

��	
��	�� �� 
� ���	
��� x ∈ (0, 1
2 ) 	�� 	
��� 
��
�

���√

2 ln
1
x
≤ 2 ln 2

2 ln 2− 1

⎛
⎝√

2 ln
1
x
− 1√

2 ln 1
x

⎞
⎠ .

��	�

− F−1
γ1

(x) ≤ 2 ln 2
2 ln 2− 1

⎛
⎝√

2 ln
1
x
− 1√

2 ln 1
x

⎞
⎠ , x ∈

(
0,

1
2

]

⇒
(

I(x)− 2 ln 2
2 ln 2− 1

x

√
2 ln

1
x

)′
≤ 0, x ∈

(
0,

1
2

]
.

���
����

lim
x→0

(
I(x)− 2 ln 2

2 ln 2− 1
x

√
2 ln

1
x

)
= 0,

	��	�

I(x) ≤ 2 ln 2
2 ln 2− 1

x

√
2 ln

1
x

, x ∈ (0,
1
2
].

����� x ∈ [ 12 , 1]� ���


I(x) = I(1− x) ≤ 2 ln 2
2 ln 2− 1

(1− x)

√
2 ln

1
1− x

.

��� ������

� 
��
�
���
 � ������� x ∈ (0, 1
2 ] ���������	��� 
�����
�	  ����	!

(1− x)

√
ln

1
1− x

≥ x

√
ln

1
x

, x ∈
(

0,
1
2

]
.

"� 
��
�

��� �
�
�� ��� ��  �
��
� g1(x) = (1−x)2 ln 1
1−x−x2 ln 1

x � ����	�� #
�$�

�

0 � ��$��� 1
2 
 1� 
 ������� �%��� g′′1 (x) = 2(lnx− ln(1− x)) ≤ 0, x ∈ [ 12 , 1]� �����

I(x) ≤ 2 ln 2
2 ln 2− 1

x

√
2 ln

1
x
≤ 2 ln 2

2 ln 2− 1
(1− x)

√
2 ln

1
1− x

, x ∈
(

0,
1
2

]
. �

����� 	� 	���	 �&	�����  �
��
'

Kμn,a,R(x) ≤ 2 ln 2
2 ln 2− 1

(1 − Fμa,n,R(x))
ρμn,a,R(x)

√
2 ln

1
1− Fμa,n,R(x)

, x ∈ R.

( ��#������� 
�����
�) ��	� �������� �������

� ��	� *�+ ��� x ∈ [a− R, a + R]�
��� a ∈ [0; R]�
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�� ����
����� �	� �������
���� ��� ���

���� ���� ���� a ∈ [0; R]� ���� �	
 x ∈ [a−R, a + R] ����
�����
 
����
����

(1 − Fμa,n,R(x))
ρμn,a,R(x)

√
2 ln

1
1− Fμa,n,R(x)

≤
√

2RHn−2(R)
Hn−2(0)

+
2
√

2πcnHn−1(R) + 1
cn−1Hn−2(0)

������


� ���������

K1(x) =
1− Fμa,n,R(x)

ρμa,n,R(x)

=

∫ a+R

x e−ayHn−2(
√

R2 − (a− y)2) dy

e−axHn−2(
√

R2 − (a− x)2)
+

e
R2−a2

2
∫∞

a+R e−
y2

2 dy

cn−1e−axHn−2(
√

R2 − (a− x)2)
.

��	
�����

A :=

∫ a+R

x
e−ayHn−2(

√
R2 − (a− y)2) dy

e−axHn−2(
√

R2 − (a− x)2)
.


�	�
�	� �
� x > 0 ��� ����� ����������
∫∞

x e−
y2

2 dy < 1
xe−

x2
2 � ����

B :=
e

R2−a2
2

∫∞
a+R

e−
y2
2 dy

cn−1e−axHn−2(
√

R2 − (a− x)2)
<

1
a+Re−aR−a2

cn−1e−axHn−2(
√

R2 − (a− x)2)
.

���������� ��

A ≤ 1− ea(x−a−R)

a

Hn−2(R)
Hn−2(0)

≤ 1− e−2aR

a

Hn−2(R)
Hn−2(0)

��	
�����

K2(x) =

√
ln

1
1− Fμa,n,R(x)

=

√√√√ln
√

2π(1− γn(B(a; R)))

cn−1e
a2−R2

2
∫ a+R

x e−ayHn−2(
√

R2 − (a− y)2) dy +
∫∞

a+R e−
y2
2 dy

≤
√√√√ln

√
2π(1 − γn(B(0; R− a)))

cn−1e
a2−R2

2
∫ a+R

x
e−ayHn−2(

√
R2 − (a− y)2) dy +

∫∞
a+R

e−
y2
2 dy

=

√√√√ln
√

2πcnHn−1(R − a)e−
(R−a)2

2

cn−1e
a2−R2

2
∫ a+R

x
e−ayHn−2(

√
R2 − (a− y)2) dy +

∫∞
a+R

e−
y2
2 dy

=
√

2aR + lnM1(x) ≤
√

2aR +
√

lnM1(x) ≤
√

2aR + M1(x),

��

M(x) =
√

2πcnHn−1(R − a)

cn−1ea2+aR
∫ a+R

x e−ayHn−2

(√
R2 − (a− y)2

)
dy + e

(a+R)2
2

∫∞
a+R e

−y2
2 dy

.

��	
�����

C :=
√

2aR,

D :=
√

2πcnHn−1(R− a)

cn−1ea2+aR
∫ a+R

x
e−ayHn−2(

√
R2 − (a− y)2) dy + e

(a+R)2
2

∫∞
a+R

e
−y2

2 dy
.
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AC ≤ 1− e−2aR

a

√
2aRHn−2(R) =

√
1− e−2aR

√
1− e−2aR

2aR

√
2R

Hn−2(R)
Hn−2(0)

≤
√

2R
Hn−2(R)
Hn−2(0)

.

���������	 ��

AD =

∫ a+R

x e−ayHn−2(
√

R2 − (a− y)2) dy

e−axHn−2(
√

R2 − (a− x)2)

×
√

2πcnHn−1(R− a)

cn−1ea2+aR
∫ a+R

x
e−ayHn−2(

√
R2 − (a− y)2) dy + e

(a+R)2
2

∫∞
a+R

e
−y2

2 dy

≤
∫ a+R

x e−ayHn−2(
√

R2 − (a− y)2) dy

e−axHn−2(
√

R2 − (a− x)2)

×
√

2πcnHn−1(R− a)

cn−1ea2+aR
∫ a+R

x
e−ayHn−2(

√
R2 − (a− y)2) dy

=
√

2πcnHn−1(R − a)
cn−1e−ax+a2+aRHn−2(

√
R2 − (a− x)2)

≤
√

2πcnHn−1(R − a)
cn−1Hn−2(

√
R2 − (a− x)2)

≤
√

2πcnHn−1(R − a)
cn−1Hn−2(0)

≤
√

2πcnHn−1(R)
cn−1Hn−2(0)

.

���������	 
�

BC ≤
1

a+Re−aR−a2

cn−1e−axHn−2(
√

R2 − (a− x)2)

√
2aR

=
ea(x−(a+R))

cn−1e−axHn−2(
√

R2 − (a− x)2)

√
2aR

a + R
≤ 1

cn−1e−axHn−2(
√

R2 − (a− x)2)

≤ 1
cn−1Hn−2(0)

.

���������	 ��

BD =

∫∞
a+R

e−
y2
2 dy

cn−1e−axHn−2(
√

R2 − (a− x)2)

×
√

2πcnHn−1(R− a)

cn−1ea2+aR
∫ a+R

x e−ayHn−2(
√

R2 − (a− y)2) dy + e
(a+R)2

2
∫∞

a+R e
−y2

2 dy

≤
∫∞

a+R e−
y2

2 dy

cn−1e−axHn−2(
√

R2 − (a− x)2)

√
2πcnHn−1(R− a)

e
(a+R)2

2
∫∞

a+R
e
−y2

2 dy

≤
√

2πcnHn−1(R− a)e
ax−(a+R)2

2

cn−1Hn−2(
√

R2 − (a− x)2)
≤
√

2πcnHn−1(R− a)
cn−1Hn−2(0)

≤
√

2πcnHn−1(R)
cn−1Hn−2(0)

.



���������	
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����� �	� �������
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��� a ∈ [0; R]

Kμn,a,R(x) ≤ 2 ln 2
2 ln 2− 1

K1(x)K2(x) =
2 ln 2

2 ln 2− 1
(AC + AD + BC + BD)

≤ 2 ln 2
2 ln 2− 1

(√
2R

Hn−2(R)
Hn−2(0)

+ 2
√

2πcnHn−1(R)
cn−1Hn−2(0)

+
1

cn−1Hn−2(0)

)
≤ cn,R

�������	� n− 1 
�	�	�
� �

��
����� �	�� ���	���� �������	 ���	�	���� � ����� �������� ��	���	��� �	�

�� ��� ��� x ∈ [a−R, a + R]� ��� a ∈ [R; R +
√

2]�

���� ���� ���� a ∈ [R; R+
√

2]� ���� �	
 x ∈ [a−R, a+R] ����
�����
 
����
����

(1− Fμa,n,R(x))
ρμn,a,R(x)

√
2 ln

1
1− Fμa,n,R(x)

≤
√

2
Hn−2(R)
Hn−2(0)

+
2
√

2π + 1
cn−1Hn−2(0)

.

������


� ���������

K1(x) =
1− Fμa,n,R(x)

ρμa,n,R(x)

=

∫ a+R

x
e−ayHn−2(

√
R2 − (a− y)2)dy

e−axHn−2(
√

R2 − (a− x)2)
+

e
R2−a2

2
∫∞

a+R
e−

y2
2 dy

cn−1e−axHn−2(
√

R2 − (a− x)2)
.

�� ���	��

A :=

∫ a+R

x e−ayHn−2(
√

R2 − (a− y)2)dy

e−axHn−2(
√

R2 − (a− x)2)
.

!
 
�� � ��� x > 0 ��� �

"	 �	�
��

��
∫∞

x
e−

y2
2 dy < 1

xe−
x2
2 � ���


B :=
e

R2−a2
2

∫∞
a+R

e−
y2

2 dy

cn−1e−axHn−2(
√

R2 − (a− x)2)
<

1
a+Re−aR−a2

cn−1e−axHn−2(
√

R2 − (a− x)2)
.

#
��
����� $�

A ≤ 1− ea(x−a−R)

a

Hn−2(R)
Hn−2(0)

≤ 1− e−2aR

a

Hn−2(R)
Hn−2(0)

.

�� ���	��

K2(x) =

√
ln

1
1− Fμa,n,R(x)

=

√√√√ln
√

2π(1− γn(B(a; R)))

cn−1e
a2−R2

2
∫ a+R

x e−ayHn−2(
√

R2 − (a− y)2) dy +
∫∞

a+R e−
y2
2 dy

≤
√√√√ln

√
2π

cn−1e
a2−R2

2
∫ a+R

x
e−ayHn−2(

√
R2 − (a− y)2) dy +

∫∞
a+R

e−
y2
2 dy

=

√
(a + R)2

2
+ lnM2(x) ≤ a + R√

2
+
√

lnM2(x) ≤ a + R√
2

+ M2(x),

�	

M2(x) =
√

2π

cn−1ea2+aR
∫ a+R

x e−ayHn−2(
√

R2 − (a− y)2) dy + e
(a+R)2

2
∫∞

a+R e
−y2

2 dy
.



��� �� �� ���	
��
��

���������

C :=
a + R√

2
,

D :=
√

2π

cn−1ea2+aR
∫ a+R

x e−ayHn−2(
√

R2 − (a− y)2)dy + e
(a+R)2

2
∫∞

a+R e
−y2

2 dy
.

���������	 
�

AC ≤ 1− e−2aR

a

a + R√
2

Hn−2(R)
Hn−2(0)

≤ a + R√
2a

Hn−2(R)
Hn−2(0)

=
(

1√
2

+
R√
2a

)
Hn−2(R)
Hn−2(0)

≤
√

2
Hn−2(R)
Hn−2(0)

.

���������	 ��

AD =

∫ a+R

x
e−ayHn−2(

√
R2 − (a− y)2) dy

e−axHn−2(
√

R2 − (a− x)2)

×
√

2π

cn−1ea2+aR
∫ a+R

x
e−ayHn−2(

√
R2 − (a− y)2) dy + e

(a+R)2
2

∫∞
a+R

e
−y2

2 dy

≤
∫ a+R

x
e−ayHn−2(

√
R2 − (a− y)2) dy

e−axHn−2(
√

R2 − (a− x)2)

×
√

2π

cn−1ea2+aR
∫ a+R

x
e−ayHn−2(

√
R2 − (a− y)2) dy

=
√

2π

cn−1e−ax+a2+aRHn−2(
√

R2 − (a− x)2)
≤

√
2π

cn−1Hn−2(
√

R2 − (a− x)2)

≤
√

2π

cn−1Hn−2(0)
.

���������	 
�

BC ≤
1

a+Re−aR−a2

cn−1e−axHn−2(
√

R2 − (a− x)2)
a + R√

2
=

ea(x−(a+R))

√
2cn−1e−axHn−2(

√
R2 − (a− x)2)

≤ 1√
2cn−1e−axHn−2(

√
R2 − (a− x)2)

≤ 1√
2cn−1Hn−2(0)

.

���������	 ��

BD =

∫∞
a+R

e−
y2
2 dy

cn−1e−axHn−2(
√

R2 − (a− x)2)

×
√

2π

cn−1ea2+aR
∫ a+R

x e−ayHn−2(
√

R2 − (a− y)2) dy + e
(a+R)2

2
∫∞

a+R e
−y2

2 dy

≤
∫∞

a+R e−
y2

2 dy

cn−1e−axHn−2(
√

R2 − (a− x)2)

√
2π

e
(a+R)2

2
∫∞

a+R
e
−y2

2 dy

≤
√

2πe
ax−(a+R)2

2

cn−1Hn−2(
√

R2 − (a− x)2)
≤

√
2π

cn−1Hn−2(0)
≤

√
2π

cn−1Hn−2(0)
.
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��� x ∈ [R; R +
√

2]

Kμn,a,R(x) ≤ 2 ln 2
2 ln 2− 1

K1(x)K2(x) =
2 ln 2

2 ln 2− 1
(AC + AD + BC + BD)

≤ 2 ln 2
2 ln 2− 1

(√
2
Hn−2(R)
Hn−2(0)

+ 2
√

2π

cn−1Hn−2(0)
+

1
cn−1Hn−2(0)

)
≤ cn,R. �
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